ERFA7+—27- (%)

NYT)—hH3—=

= T E Ot 3.0
B B & = 52FB30P/PJXIV
E B 5 &
Xo| % & FIT EBREE XAERE. AE H oI mEEEE
. . . AT mLTF 5
L AL RN
7 F A 7—hr7 U 5 = RS 5T
TETET | e
. s ~ RN o8 Vi g
mErL-x | T (24.5~51)
HETZL-—XHBEE) | £8F | FLEABY% 200 F
il RS LESA =V T0T =E mm 0.3~0.4
N . FEENZE mm 310
L—% K54
9] 7 Th BIERE mm 312
TJL—F% K3 L4 . _ . HEEX mm 5.7
JL—F%74 =7 —
N o FERE]  mm 15
= . . - 255~306
Ny 0T L—bDFEFI Ly Nm (kgf-m)
(26.0~31.2)
B [BAT X7 R _ AEEX mm -
TL—%F 424 =
JL—% 71 HARBE mm -
Ny RETFARIRA—ILDTEM mm -
o R HAEEBEX mm -
EZAT4 R Ra—IL -
;II/T:\: TART A BEIERE mm -
B N HAEEX mm -
L—%/8y kB =
TETE RS waRE]  mm :
e B & HEAERZ mm 45
N BF FERE]  mm 70
53 DR = HERE mm 350
S LmOS I DE HARBE mm 1580
S ~ * _
z -, . E& G | mm/U 7B | 38115 (V=)
N6 FRRE % 2
. EEN=N AR NDOBEARETE mm/% 504 A/5
i Py F4NLEYYrE—ay ROBUE mm/% 22.5LLA/5
= IR MPa
e 2 18.6L4F
= lgeny ) —vE (kef/em )
= _ MPa (190)
= T 4 L b 5
(kgf/cm?)
SHEEE B X% B 61 AXI£1200H
il
. |[fEmES LT FSvRIvvay, F477L00
; . _ . = 6 1200H
" Lo ver, gEm 27Ty | AXERE6aRXE
B
L —% A XL H5R 6 A XI£1200H

= K i E t 3.0
B B & ] = 52FB30P/PJXIV
B R 5 i#
Xo| % & P EBREE XAERHE. Ak H oI mEEEE
K47 HAEE mm —
T—%— HRRE mm -
e BT EHEfE mm -
7IYNE E—X— |HBRRE mm -
N7 —2 57 | HEE mm -
IR P T—%— |FERE mNm -
FoAT7E—4— (kef) —
) VA Z)) s
A Vi Ry 7E—%— (ke -
i B(E —— N
NRIXATFTE—R— (kef) —
= [SyF0- EBROBLE oRE) v 25 E
/e - - = SN~ E A —
| | mrsimes ETHE—2—DORKXKERE
, CANARE e EE 2 oRABAE A -
REEE BEEBREY L —DEEIEE v (= A o H5)
| ET T AR A 275
— % ERE KA A 275
/X7 27 B A A 275
ka—X FTEE— KA A —
F B2 R A 100
HUFEN (3 1F) |1 2% A3 A 10
B WA A A 10
. k Pa 300~850
DY
ot (kgf/cm?) (8.0~8.5)
4 AV EREE 270 k Pa 700~750
= (kgf/cm?) (7.0~7.5)
y x k Pa 700~750
(kgf/cm?) (7.0~7.5)
E By b F o b Nm 397~485
e T
A (kgf-m) (41~50)
. S I% ~
T /‘7\\7“ h )P AT Fy Nm 157~188
NTF v b (kgf-m) (16~19)
" 90~108
s |OBHT P k507007 FREFL Nm
(kgf-m) (9.2~11.0)
A=A Nm ;
. kgf-
B U LEERIL b ( gNmm) TTI=135
Y 7
(kgf-m) (11.6~13.9)
EE(E 5
by sy B & mm 46 x 62(15M)
7T RIL FARRE mm -
v R—Tva HARBE mm -
XA NS EM HARBE mm -
. o MPa 9.3
%= 2 Jvy—7+ty bE
;: ol TARTTVYY 7 ME (kef/cm?) (95)
= TE—R—TSVEEE mm -




	FB30PXIV

